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Monday, September 18, 2017 11:19 AM

@ wco9lect

Announcements

® Quiz 2 starts tomorrow!

U Upcoming deadlines:
* Tuesday (9/19)
e PL HW6
® Thursday (9/21)
e ME HW7
* Friday (9/22)
® Writing Assignment 1
(FBD only)

babyanimalzoo.com
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Recap

® Moment of a force

* About a point P
X
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Recap

® Moment of a force ,

/¢
* About a point .
D

* About an axis
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The force F = 10 N is acting along DC. Determine the moment of F about

the bar BA.
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s

Moment of a couple

A couple is defined as two parallel forces that
have the same magnitude, but opposite
directions, and are separated by a perpendicular

distance d.

Since the resultant force is zero, the only effect
of a couple is to produce an actual rotation, or if
no movement is possible, there is a tendency of

rotation in a specified direction.

The moment produced by a couple is called
couple moment.

Let’s determine the sum of the moments of both

couple forces about any arbitrary point:
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A torque or mo required to rotate the wheel. Would F
be greater or less than 30 -«
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A twist of 4 N-m is applied to the handle of the screwdriver. Resolve this

couple moment into a pair of couple forces F exerted on the handle and

P exerted on the blade.
74
4
R 4 N‘\
-P 330
% F
P —
i

a@w(w"»ﬁ
0 oo \

ey o P B2(5)

§m\ Y

Sep18Lec09 Page 10



Monday, September 18, 2017 11:20 AM

p\’ : (m@* (Bbl)mm)(IZsN)g{':f) ("’j

AB
I
/.\Hom/-’liu‘-y /:S . S,
= 5 O | =(200rmm <
Moo / 2:) 300 12§ - (mmm)(“"“)J




4 (60 mm) T P =[loo N )J

_I\T,. . (6006‘ * ‘lobj‘) N-wmm = —(,00005; N-mm
“Todal mamerc] abort O )

ﬁf Vjos + My ‘é7§00/1:- 26007 - Lop00 k) K- mamn

Wo =(3b7r-r £-28-60k) N |

PPPPPPPPPPPPPPPP





